Klapptest — LingenmaRe berechnen 1

Falte entlang der Linie und schreibe die Ergebnisse mit den

gegebenen Einheiten.

1. 6700000 m

2. 500000 hm

3. 300000 dm

4, 500 mm

5. 690 dam

6. 680000 dm

7. 46000000 cm

8. 56000 cm

9. 740000 km

10. 770000 km

11. 9300 mm

12. 56 km

13. 4600000 cm

14. 54000 dam

15. 6300 km

1l6. 17000 cm

17. 42000 hm

18. 3400 m
19. 51 km
20. 98 dm
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67000 hm
5000000 dam
3000 dam

5 dm

690000 cm
6800 dam

460 km

560 m
74000000 dam
77000000 dam
93 dm
56000000 mm
460 hm
540000 m
63000000 dm
170 m
4200000 m
34000 dm
51000000 mm

9800 mm

Ergebnis:

__J20P.



